
RACE 4

RACE



6x50

RACE

1

2

3

4

5

6

7

8
9

10

11

12

13

14

15

16

17

18
19

20

21

22

23

24

25

4

12

4

1

2

2

1

4
8

14

2

2

1

1

6

2

2

8
3

4

8

16

8

1

1

M5

M6

M8

M5

M8

M6x18

6x60

6x14

26 2

27 4

M6x14

M8x50

28 2

29 2

N° pezzo
Piece Nr.
Pièce Nr.

Stück-Nr.
N° pieza

Disegno
Drawing (Picture)
Dessin

Zeichnung
Diseño



RACE 4

10

10
2

10

10
16

2

10

15

15

15

15

14

1

1 8

8

1 8

26

24

26

7

17

11

10

2

17

10

2

11

2
10

2

10

22

20

21

23

22

21

23

18

18

199

8

3

9

3

9

9

4

25

199

29

13

15

15

10

2 2

10

10
2

2

12

12

6

5

6

5

27

9

9

9

199



3

4
9
13

M8

25

4

1
8
1

1

M8

27 4M8x50

M16x70

- N° pezzo
- Piece Nr.
- Pièce Nr.

- Stück-Nr.
- N° pieza

- Quantità
- Quantity
- Quantité

- Menge
- Cantidad

- Disegno
- Drawing (Picture)
- Dessin

- Zeichnung
- Diseño

22

22

21
23

22

22

21
23

20

18

23

22

22

21

20

18

18

18

21
22
23

8
8
16

8

- N° pezzo
- Piece Nr.
- Pièce Nr.

- Stück-Nr.
- N° pieza

- Quantità
- Quantity
- Quantité

- Menge
- Cantidad

- Disegno
- Drawing (Picture)
- Dessin

- Zeichnung
- Diseño

20 4

25

3

3 9

9

9

4

13

27

9

9

9



12 2

14 1
13 1

- N° pezzo
- Piece Nr.
- Pièce Nr.

- Stück-Nr.
- N° pieza

- Quantità
- Quantity
- Quantité

- Menge
- Cantidad

- Disegno
- Drawing (Picture)
- Dessin

- Zeichnung
- Diseño

14

13

12

12

12



2

10
15

6
6
66x50

M6

M6x18

- N° pezzo
- Piece Nr.
- Pièce Nr.

- Stück-Nr.
- N° pieza

- Quantità
- Quantity
- Quantité

- Menge
- Cantidad

- Disegno
- Drawing (Picture)
- Dessin

- Zeichnung
- Diseño

15

10
15

15

10

2

10

2

10

15

2

15
10

2



1

7
8

4
1
4

M5

- N° pezzo
- Piece Nr.
- Pièce Nr.

- Stück-Nr.
- N° pieza

- Quantità
- Quantity
- Quantité

- Menge
- Cantidad

- Disegno
- Drawing (Picture)
- Dessin

- Zeichnung
- Diseño

11

10

2

10
2

26

24
17

11

10

2

102

10

17

2610

7
8

1

8
1

16

2

2

10

10

- N° pezzo
- Piece Nr.
- Pièce Nr.

- Stück-Nr.
- N° pieza

- Quantità
- Quantity
- Quantité

- Menge
- Cantidad

- Disegno
- Drawing (Picture)
- Dessin

- Zeichnung
- Diseño

2

10

11
16

17
26

M6x18

6x60

6x14

M6x14

6

8

2
2

2
2

24 1



6
2
2

- N° pezzo
- Piece Nr.
- Pièce Nr.

- Stück-Nr.
- N° pieza

- Quantità
- Quantity
- Quantité

- Menge
- Cantidad

- Disegno
- Drawing (Picture)
- Dessin

- Zeichnung
- Diseño

5

6

5

6
6

5

5

6

30

28

28

28 2

- N° pezzo
- Piece Nr.
- Pièce Nr.

- Stück-Nr.
- N° pieza

- Quantità
- Quantity
- Quantité

- Menge
- Cantidad

- Disegno
- Drawing (Picture)
- Dessin

- Zeichnung
- Diseño



19
29

2
2

MT 5

- N° pezzo
- Piece Nr.
- Pièce Nr.

- Stück-Nr.
- N° pieza

- Quantità
- Quantity
- Quantité

- Menge
- Cantidad

- Disegno
- Drawing (Picture)
- Dessin

- Zeichnung
- Diseño29

19

110 Nm

19 29

2919



- N° pezzo
- Piece Nr.
- Pièce Nr.

- Stück-Nr.
- N° pieza

- Quantità
- Quantity
- Quantité

- Menge
- Cantidad

- Disegno
- Drawing (Picture)
- Dessin

- Zeichnung
- Diseño

MT 519 1

19

18

18

5

6

6

5



40cm

MAX 15 Kg

14 KgKg
MAX
loaded

X4



Co
d.

 A
rt

.
Co

d.
 is

tr
.

D
at

a
Re

v.
Cr

ea
to

 d
a

Ap
pr

ov
at

a 
da

19
85

52
D

FI
05

22
25

/0
1/

20
10

A
AS

/L
M

D
M

Via 8 Marzo, 3 - Z.I. Corte tegge
42025 CAVRIAGO (RE) ITALY

Tel. +39-0522/942840 r.a. - 942798
Fax +39-0522/942948

e-mail: info@flli-menabo.it - http://www.flli-menabo.it


